TOP

ACP- -2 A
Hc = K4 K5 gm K4 = 1.05
K4 : (=1.05) K5 = 1.05
Hc | K5: (=1.05) gm= 32,487 [KW ] 37.4
[kW] [ gm: [kW ] 15
+ Hc = 35.8 3
[kW]
Hh = K4 K5 gh K4 = 1.05 kwill 37( )
K5 = 1.05 [m/h] 9,900
Hh K4 : (=1.05) gh = 22,363 [Pa] 294
[kW] | K5 : (=1.05) [KW ] 1.2
gh : Hh = 24.7 [kW ] 32.3
+ [kW]
Gs = 1.2 QO( x1 - x2) Qo0 = 900 [kW ]
x1=  0.0066 [ ]
QO0: [m/h]| x2= 0.0013 [1/min]
Gs X1 : [ka/kg(DA)] [kg/h]
[kw] X2: [ka/kg(DA)])| Gs = 5.7 [kW ]
[kg/h] 5.7
[ 1] [kW ] 6.0
35.8
DB | 26.9 19.6 “Tog7 - %9
WB 19.5 12.4
[kW]
[kW] ACP-40
[kW]
[m:/h]
[Pa]
[kW]
[kW]
[kW]
[ ]
[1/min]
[kg/h]
[kW]
[kg/h]
[kwW]
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